The Biscuit Factory
Mila has the following fixed assets:

· Factory premises = £75,000

· Fixtures and fittings = £5,000

She has the following current assets:

· Stock = £15,000

· Debtors = £1,000

· Bank = £3,000

· Cash = £1,000

She has the following current liabilities:

· Creditors = £7,000

· Overdraft = £4,000

Mila’s business is financed by the following:

Long term liabilities:

Bank loan = £10,000

Mortgage = £60,000

Capital and reserves:

Capital = £19,000

The Biscuit Factory

Balance Sheet 1 April

	
	£
	£

	Fixed Assets
	
	

	Shop premises
	_________75 000_____________
	

	Fixtures and fittings
	_________5 000_____________
	

	Total
	
	_________80 000_____________

	
	
	

	Current Assets
	
	

	Stock
	_______15 000_______________
	

	Debtors
	_______1 000_______________
	

	Bank
	_______3 000_______________
	

	Cash
	_______1 000_______________
	

	Total
	
	_______20 000_______________

	
	
	

	Current Liabilities
	
	

	Creditors
	_______7 000_______________
	

	Overdraft
	_______4 000_______________
	

	Total
	
	_______11 000_______________

	
	
	

	Net Current Assets
	
	_______9 000_______________

	Net Assets Employed
	
	_______89 000_______________

	
	
	

	Financed By:
	
	

	Long Term Liabilities
	
	

	Bank loan
	______10 000________________
	

	Mortgage
	______60 000________________
	

	Total
	
	_______70 000_______________

	
	
	

	Capital and Reserves
	
	

	Capital
	_____19 000_________________
	

	Capital Employed
	
	______89 000________________
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Are your Net Assets Employed and Capital Employed figures the same? If they are congratulations! Your balance sheet balances!





Pssst! The capital employed figure is calculated by adding your total long term liabilities to your total capital and reserves!








